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_____ and the United States of America constitute the classic examples of a two party 
system
Great Britain

In Nigeria, the definition of powers of public officers is contained in _______.
written constitution

Conflict is a situation in which parties disagree about the distribution of symbolic 
resources and ________.
incompatibility of goals

In Nigeria, the ______ ultimately retains the power to impeach the head of the 
executive.
Legislature

______ describes the concentration of decision making power in a small number of 
officials.
Centralisation

In a federalist sytem the principle of ____ of powers is a vital institutional to the thriving 
of democracy and good governance.
separation

______ refers to the practice and acceptance of government by means of the 
constitution.
Constitutionalism

In the _____, the political contest is usually between the Republican and the 
Democratic parties.
United States

______ divides the powers of government among different branches and institutions of 
of the political system.
Constitution

The great legacy which Montesquieu has bequeathed to modern government is 
difussion of the powers of government into different bodies and _______.
institutions

CLICK TO DOWNLOAD MORE TMA PQ
Join group: T.me/NOUNSTUDENTSFORUM

Whatsapp: 08089722160 or click here for TMA assistance

Practice  E-exams & Chat with course mates on noungeeks.net

A-PDF Watermark DEMO: Purchase from www.A-PDF.com to remove the watermark

https://bit.ly/3Rb4Vxn  
https://T.me/NOUNSTUDENTSFORUM
https://wa.me/message/M3U4JPAOT4FEB1
https://noungeeks.net
http://www.a-pdf.com/?wm-demo

